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s Answer any four (04) questlons. All queshons carry cqual marks Use of a non
programmable calculator is allowed.

n ' ‘a) : _ ('i)‘ _ If x= 6 and y—..‘, evaluate the followmg expressmn
(x +y )(x _y) '
' (x+ y) '

(i) If x and y are non zero what is the condition that should be met
by "x"and " y"for the above expression to be zero.

b) Simplify the following expressions

. x+2y  p+8x . (@6)"*(a* -b*)
1) - 1, .
¥ 4x a*b(a—b)Wb
c) Factorize the followirlg
(1) X242x-35 . (i) XP+xy—dx-dy
(2) a) Solve the following eguations
() x*-10x+21=0 (i) x*+8x+5=0
3x+7y=23
(111) -
5x-2y=11
b) Evaluate the length of the sides of a rectangl.e whose perimeter is 22cm

and area 28sq cm.

(3) a) (1) Find the sum of the first five terms of an arithmetic

progression (AP) whose second term is 7 and fifth term is
22,



4

)

(6)

b)

a)'

b)

b)

b}

(i)  Find the number of terms in an arithmetic progression
whose sum of all terms is 136 while the sum of the first and
last term is 34.

(i) Find the sum of the first six terms of a geometfic P
progression whose first term is 3 and common ratio is 2.

()  Find the number of terms in a g_eometfi_c ‘progre;_s'sion whose
- first term is 5, last term is 320 and the commion ratio is 2.

A person deposits Rs.7000 in a savings account which pays an
annual compound interest of 8%, What will be the compound
amount in his account after 10 years?

A person deposited at the beginning of every year a certain amount
of money in a bank that pays compound interest at the rate of 15%
per annum. If he received a sum of Rs. 7636 at the end of seven
years, calculate the amount he deposited.

Find the differential coefficient of the following functions with
respect to"x" . -

i) x*+5x+4 () & +3)(2x+4)

2

(i) ——
x 41

If y=7+8x—x? then at what value of "x" will the value of " 3"
be a maximum?

¥ind the intergral of the following functions with respect to "x",

2x
x+5

(i) X +2x +5x+4 (i)
Evaluate the following definite integral

fx2+_7x+4 dx



@ Gomn Soam Edodemes
DESDDOEH GOIED NS AR - 3 OB @doe

MCU 1207 - oc@mmsaid e geisngen 88 1
EHOS® DO SN

MEE & ecm (02) @

2ma ¢ 2009.08.22 B 69e10 : @o.'0. 1000 eosdm 12.00

@ gan oo (04) o B88nd; powgn.

(1) a)

b)
c)
(2)  a)
b)
3y 3
b)

(i) x =6 e y 2 o5 Eba son g@@cﬁ Hamne @r:ncsfsia
(2 +5%) (- y)°
2(x + y)2

(in) &8® fgfs)@cs’ X 38 yenes @ﬁ)laﬁf@ﬁ“ﬁ;@ t;g@@cﬁ ema Hog® SO
"x" e y 'Seo a:p@m @mnﬁi@é@wma caé:)tsi écs gg@c‘;?

B @essian (glt'ﬁ m&ﬁm gg@cazsi' gg mdﬁiﬁ)

. x+2y p+8x o (@B)(a? -b?)
{1 - 1. ;
y 4x , - d’hla-bWb

SO OED EHOC DD GEIITIH.

® x* +2x-35 (i) X +xly-4x—4y
snw alnden Soexlm,
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